解一元一次不等式组练习题

1 eq \b\lc\{(\a\al\co1\vs12( 209x-96＜x, \f(26,27)x＜-137))              ② eq \b\lc\{(\a\al\co1\vs10( 63x+38＞108, 29x-13≤107))
③eq \b\lc\{(\a\al\co1\vs10( 1x-29＞-25x+44, 47x-492＞0))         ④eq \b\lc\{(\a\al\co1\vs10( 30x-27＜6(15x+28), \f(15,16)x-48≤51-\f(17,16)x))
⑤eq \b\lc\{(\a\al\co1\vs10( 201x-35＜200x+17,\f(7, 9)x-\f(23x+6,  7)＜\f(1,6)))       ⑥ eq \b\lc\{(\a\al\co1\vs10( 14x-36＜x+39,45-x≤8-5(x+9)))
⑦eq \b\lc\{(\a\al\co1\vs10( 49-17x≥71x-74, 2-\f(3,4)(x-4)＜0.5))        ⑧eq \b\lc\{(\a\al\co1\vs10( 26x+16≥5(x+2), \f(x-11,3)≤5-\f(4x-7,9)))
⑨eq \b\lc\{(\a\al\co1\vs10( 191x＞48x-143,\f(x-4, 14)≤\f(x+12, 27)))              ⑩eq \b\lc\{(\a\al\co1\vs10( \f(1,8)x-13(x-5)≥65, \f(1-33x, 8)＞x+39))
 eq \o\ac(○,11)eq \b\lc\{(\a\al\co1\vs10( -3(x+2)-(x-6)＜68, \f(8x+5,6)-\f(9-x, 5)≤9))       eq \o\ac(○,12)-5≤eq \f(-7x+2,14)≤4
参考答案

①x＜- eq \f(3699,26) ;          ②eq \f(10,9) ＜x≤eq \f(120,29) ；

2 x＞eq \f(492,47) ;              ④-eq \f(13,4) ＜x≤eq \f(99,2) ；
⑤-eq \f(129,316) ＜x＜52；        ⑥x＜-eq \f(41,2) ；

⑦不等式无解            ⑧-eq \f(2,7) ≤x≤eq \f(85,7) 
⑨-1＜x≤eq \f(276,13)            ⑩x≤-eq \f(311,41) 
 eq \o\ac(○,11)-17＜x≤eq \f(13,2)            eq \o\ac(○,12)-eq \f(54,7) ≤x≤eq \f(72,7) 

